EARAZROREIERT — 2 N— XBISY —F 2019511 B7H (K) 13ME4A3H

mﬂﬁ%c 104 C10 ¥5%—M (xwlw | mEmml - |5 6) o 8
[AE4£] 17 :200,000"  23%&:46,000 M  33%&:20,000M” . 43&:14,00MH . 573%&:10,000
& % B BB Mk ME BF (&) 24 L (&%) | @BIBfr | £3F |SIEH | AK | AE | R FIR) / BE / £EHS
1lglg| a4 bi—rv— 3 gﬁﬁs%ﬁ 1:(3_0).0 4531 [39.3 — | 1 | 463 Eﬁgz (%42)
2= FILEII B:TILT+Y—3X © J—YTr—LA
3 KRET :31. == . — KBEK (5H3)
H o —t 4 4 2 1 (351) 0 2-2-2-1 | 40.7 2 (4:8 i A
4O B:A0—-9—32X FRES
A i o4 | EHEE 1:31.0 5-4-5-4 | 40.1| — 4 503 | EIEREEL (&HA)
R/ P 56.0 () (cay | B it
X ThANAN BAOU 407 1 puie ]
Xauouz=g # 6 gﬁ%&z 1:(352).0 7-7-7-7 |39.9| — | 7 <4+7;s) ;ﬁ?;ﬁ (%5HA)
R:¥ayIRTL 4 B:¥3v775FF ik e
o on PR 132. -9-8- . - HERAIR (5541)
RTTNKA “ e | B [y | e o] - | s | gy o
L:F1=TA2NT N B/ T H RS
= it 5 | AEHE 1:32.0 6-6-6-5 |40.8| — 8 417 | BEEEHIER (5H1)
6111 X—=74 X 54.0 (74%) +2) (B) *—2457
L:xrivH/xEx BO—427 BB =7
N it 5 | MK 1:32.2 8-8-9-9 |40.0| ~— 6 415 | JIII83ATE (56#2)
7155 | 7¥¥ 33 54.0 ) o |Fnnt
R:Z—RFILERIIL B:3FUFv> HE77—L4
o= KEFH : —-3-4- — TEARE= (5H43)
slzl7 Ly K714 i 5 24_0 1.(322).6 2-3-4-6 | 42.1 3 (3_874) EDE?& A
LFA—TZXAA Bily FIFX e AN S
3 it 6 | BiEfd 1:33.5 1-1-1-3 [ 43.5| — 9 471 | EEESR (ER)
9lgl9|YIA—H3 54.0 @ o | Sz hEvas
R:TFaT 8 B:ov/ahT7F v Yad—7T7—L
@ I—F—@EBIERL
|3=7r= 9,(6,7),8,3,1,4,5,2
2ol=5"= 9,6,7,3,8,1,4,5,2
3T—7— 9,6,8,7,3,1,4,2,5
40—F— (6,8),9,3,1,7,4,2,5
[ N
B R 8 110M | [ 714 K 6-8 1401 | | # & 6-8 230 | | 3EfE 3-6-8 520/
# B 8 100/ 3-8 200M B E 6-8 230 EE 8-6-3 1,040
6 110 3-6 530M B H 8-6 260M
8 1909

ARICOVWTRDTEEERROODE. TR LI,



